43x4-= 4.3 x7 = 43x12 =

7 X s 8 X s 12 x 4

5 9 12
Write 3200 in Roman Write 2470 in Roman Write 4361 in Roman
Numerals = Numerals = Numerals =
64.61 — 15.6 = 275.9-144.01 = 2563 —-1743.72 =
Convert % to a decimal = Convert % to a decimal (2 d.p.) Convert g to a decimal (2 d.p.)
254 = + 132 641 = + 332 5425 = + 1643
Round 1642 to the nearest 10 Round 48542 to the nearest Round 1864245 to the
= 10 = nearest 10 =
1345 x 24 = 3643 x 24 = 8725 x 24 =
1.6 x 100 = 1.6 x 1000 = 0.16 x 100 =

EFind 72759 Af QNN = Find 259~ A~f QNN = EFind Q59 Af QNN =



43x4=17.2

4 3
7Xx-=—=5=
5 5 5

Write 3200 in Roman
Numerals = MMMCC

64.61 — 15.6 =49.01
Convert g toadecimal=0.8

254 =122 + 132

Round 1642 to the nearest 10
= 1640

1345 x 24 = 32280
1.6 x 100 = 160
Find 25% of 900 = 225

4.3x7=30.1
8xL=2=6-=
9 9 9

Write 2470 in Roman
Numerals = MMCDLXX

275.9-144.01 =131.89
Convert % to a decimal = 0.66

641 = 309 + 332

Round 48542 to the nearest
10 = 48540

3643 x 24 = 87432
1.6 x 1000 = 1600
Find 35% of 900 = 315

43x12=51.6

8 96
12X —=—=
12 12

Write 4361 in Roman
Numerals = MMMMCCCLXI

2563 —1743.72 = 819.28
Convert g to a decimal = 0.55

5425 =3782 + 1643

Round 1864245 to the
nearest 10 = 1864250

8725 x 24 = 209400
0.16 x 100 = 16
Find 85% of 900 = 765



